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2.BEC
3.A¢B
4. A& C

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=3613]
2[Option ID=3614]

3[Option ID=3615]
4[Option ID=3616]

Sl. No.55
QBID:145055




ICABIELVWEZZ (1) ~ (4) DFHhoBRIRI L,
TROZ EbIEFREL ALY,
B ) = N S

S nwp
> 1F

1
2.BEC
3

4. A& €
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=3617]
2[Option ID=3618]

3[Option ID=3619]
4[Option ID=3620]

Sl. No.56
QBID:145056

ICAAIELWEZZ (1) ~ (4) Ofh RO S LY,

FIHiZERE L THARTH S DI & C A

A EREBRE(TboYZI72D)
EFEO Lrbb S0
BfiltEO S LA & W)
JTERRE(D DA D)

(v e Wve

LBED
. BEC
3oED
LAEC

(1)1
(2) 2
3) 3
(4) 4

]

1[Option ID=3621]
2[Option ID=3622]
3[Option ID=3623]
4[Option ID=3624]

Sl. No.57
QBID:145057




IZABIELWEZ%R (1) ~ (4) Ofh i BULE L,
22

NREEBRTHDHDII s TH D,

BB

A. FO4RpEES
B. JNEEiE
C. AL 5%
D. FaE

L.BED
2.BE&EC
3.A¢B
4. AL C

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=3625]
2[Option ID=3626]

3[Option ID=3627]
4[Option ID=3628]

Sl. No.58
QBID:145058

ICABIELWEZZ (1) ~ 4) s B0 L X LY,

R DRI ¢ TH 5.

A BER
B. BEE=

C. 7 ZE=

—_—tA
D. —fm 5=

L.BED
LBEC
3.AEB
4 AEC

(1)1
) 2
(3) 3
(4) 4
1[Option ID=3629]
2[Option ID=3630]

3[Option ID=3631]
4[Option ID=3632]

Sl. No.59
QBID:145059




A BIEFRIR
B. FEIEK
C. ZHAEXH
D. iD=

L.BED
2.BE&EC
3.A¢B
4. AL C

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=3633]
2[Option ID=3634]

3[Option ID=3635]
4[Option ID=3636]

& IR OBETH 5,

IZABIELWEZ%R (1) ~ (4) Ofh i BULE L,

SI. No.60
QBID:145060

bt L SEEOER I E AT

A. 5%
B. 44F
@ 65F
I3 4F

L.B&D
2.BEC
3.A¢B
4. AL €

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=3637]
2[Option ID=3638]

3[Option ID=3639]
4[Option ID=3640]

ICABIELWEZZ (1) ~ 4) s B0 L X LY,

& THHy

Sl. No.61
QBID:145061




FHEHOHAAICYETIEEATELWVLEDE (1) ~ (4) DOFFArSBUHE L,

A BEA T A THEGFHN A oD
B.FHFYODADAENRELIC<WL

C. ERCEIGEMD H L DI ONTHRE L H D
D. FECEGEFERA H A D I ONTHINIE H D' D

LB£D
LB EE
3.AEC
4.C&D

1) 1

(2) 2

3) 3

4) 4

1[Option ID=3641]
2[Option ID=3642]

3[Option ID=3643]
4[Option ID=3644]

Sl. No.62
QBID:145062

ICABIELWEZZ (1) ~ 4) OFFHhROLE L,

%

o

EHOH
BT
BERE
EEOFR

o w »

BZD
B
.ALB
4. A& €

1) 1
(2) 2
(3) 3
(4) 4

L R N

1[Option ID=3645]
2[Option ID=3646]
3[Option ID=3647]
4[Option ID=3648]

AATIE, BHEICA AT LSO bEZET -HDFHIZ

T®H

Sl. No.63
QBID:145063




S FREHELBEOHLELEDE (1) ~ (4) OFALIBUARE L,

AFEGZ*RLTLILZEFEETL &

B. AREEZEEZTED ON TSI &

C. R MU L REBRECEFECELZ &

D. KER CHESMICIBIMAMNE L THANT-LOEFZFET 2 2 &

LBEDEA
2.AEBEL
LAEBED
4. AL C&D

(1)1
(2) 2
(3) 3
4) 4
1[Option ID=3649]
2[Option ID=3650]

3[Option ID=3651]
4[Option ID=3652]

Sl. No.64
QBID:145064

AT ABIELLWEZRE (1) ~ (4) OFNGEROE S L,
HATSOEHEE S DI TH5,

A. T
B. AIAEE
C. F R
D. R &Hh

1.BEAED
2.AECED
3.BED EA

4. A D&C
1) 1
(2) 2
3) 3
4) 4
1[Option ID=3653]
2[Option ID=3654]

3[Option ID=3655]
4[Option ID=3656]

Sl. No.65
QBID:145065




IZADIELWEZZ (1) ~ (4) oy oiBUARE L,
BRHERAHFOR, HEAYERBZGATZEHIL s i

A FA4Y

B 77Xl #
C.AFYR
D4 ZTYT

I.BEA
2. A€
3.B¢D
4.A¢LD

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=3657]
2[Option ID=3658]

3[Option ID=3659]
4[Option ID=3660]

Sl. No.66
QBID:145066

TOMEIE I L O 2HEIN BIRU, IEL WEZZ (1) ~ 4) oy oBU A S L

/1 W
P R 2 e
A |EAES L |EFAIESTEN
Thig> 3F
FIEZRELTHEA
B. [SiEEHT IL |&szme@iiED
= [ =& T
c [FT=m ing ’f’}'ﬁ%'““
D. HAF+E IV [ttt ehsz &

1. A-IV; B-I; C-II; D-NI
2. A-IIL; B-1V: C-II; D-I
3. A-II; B-1V; C-III: D-I
4. A -1II; B-1I; C-I; D-IV

(1) 1

(2) 2

3) 3

4) 4

1[Option ID=3661]

2[Option ID=3662]

3[Option ID=3663]
4[Option ID=3664]

Sl. No.67
QBID:145067




TEOWICE S b DAL SIB. TELVWEZ%E (1) ~ (@) 0y 58U A &

LA,

L LR
A [EEoxs I lgEmEik
B g 1_|BEEE
C_ s M p5stag
D |ztETF V. [FsmeE

(1)1
(2) 2
3) 3
(4) 4
1[Option ID=3665]
2[Option ID=3666]

3[Option ID=3667]
4[Option ID=3668]

1. A-IV: B-T: CIE D-IT
2. A -III; B-TI; C-I; D-IV
3. A-II; B-1V; C-III; D-I
4. A -IIT; B- IV C-II; D-I

Sl. No.68
QBID:145068

LY,

Te2OMEI-ES ) b O EEIA IBD, IFLWVWEZ 7 (1) ~ 4) odhh o B E

1

B I

VTR

IFRI- L - TOHS
A |PEERTECES

(S

EEOSEE Tk
B. |&U5EEL- Rk

AR T ER

1L

WIARR

Hr PR RO
C. [BrkonsAixcriy

III.

I‘%ﬂ

ICTROEMRICERE
D. Bzt SiREE N

V.

R

1) 1
() 2
(3) 3
(4) 4
1[Option ID=3669]
2[Option ID=3670]

3[Option ID=3671]
4[Option ID=3672]

1. A-IV, B- 1, C-III, D-II
2. A -II1, B-I, C-II, D-IV
3. A, B-1, C-IV, D-II
4. A -III, B- IV, C-II, D-I

Sl. No.69
QBID:145069




TEOWICE S b DAL SIB. TELVWEZ%E (1) ~ (@) 0y 58U A &
LY,

#I 8| o
ol =
B. i 5 F}g Is;7
LG | i EWH’?
D. [& V. [

1. A-II, B-1, C-IV, D-III
2. A -III, B-1, C-II, D-IV
3. A-IlL B-1V, C-I, D-III
4. A -I1II, B- IV, C-II, D-1
) 1
) 2
3) 3
(4) 4

1[Option ID=3673]
2[Option ID=3674]
3[Option ID=3675]
4[Option ID=3676]

Sl. No.70
QBID:145070

TEOREIZES S b DO FEIABEY. IELVWEZ %#.(1) ~ (4) oty 5BUA X
LYo

fid 1 @ I
A IEUEE I [Fisrs
B. IJ‘EMKE% oL |[Lo&
C lewms I |Z6
D. g v |pows

1. A-IL, B-1, C-1V, D-III
2. A-IV, B-1. C-II. D-III
3. A-IL, B-1V. C-1, D-III
4. A -11I, B- I, C-II, D-IV

(1)1

(2) 2

3) 3

4) 4

1[Option ID=3677]

2[Option ID=3678]

3[Option ID=3679]
4[Option ID=3680]

Sl. No.71
QBID:145071




TEROWICE D bOZFIA, SIBO, IELVWEZE (1) ~ 4) ofFAroiBUA X
LY,

1 i#W o
A E= I EERE
B. [BEEF 1L B CE
C |E= OL AR
D. V_|EmEs

1. A-IL, B-1, C-IV, D-III
2. A-1IV, B-1, C-II. D-III
3. A-IL B-1V. C-1, D-III
4. A -III, B- IV, C-I1, D-I
1) 1

(2) 2

3) 3

4) 4

1[Option ID=3681]

2[Option ID=3682]

3[Option ID=3683]
4[Option ID=3684]

Sl. No.72
QBID:145072

TS D b D EEIA IRV, IFELWVWEZZ (1) ~ @) OohhroiBUOL X
LA,

i1 # 1
A == L [i£< 532
B. iBE I g 1A
> %% o [P BEELEE
LZACHTIEE
D. e IV [A<HETE-L
1. A-II, B-1, C-IV, D-III
2. A-IL B-1V, C-1, D-III
3. A -1V, B-1, C-II, D-III
4. A -111, B- IV, C-II, D-I
1
) 2
3) 3
(4) 4

1[Option ID=3685]
2[Option ID=3686]
3[Option ID=3687]
4[Option ID=3688]

Sl. No.73
QBID:145073




TEOWICE S b DAL SIB. TELVWEZ%E (1) ~ (@) 0y 58U A &
LY,

# 1 #W 1
MfmEARL] (SR<
A L &
ez BEEL
B. BEEGTCERE 1L | BAEL
C. | [MEEHF] I |=EF

RIS E C DR
== A 5.
D. [ENTNEECES | IV =g
s LToEZE -
TWn3

1. A-IIL, B- I, C-1V, D-II
2. A-IV, B-1, C-II. D-III
3. A-1, B-III, C-IV, D-II
4. A-1I, B- 1V, C-III, D-I

@ 1

) 2

3) 3

(4) 4

1[Option ID=3689]

2[Option ID=3690]

3[Option ID=3691]
4[Option ID=3692]

Sl. No.74
QBID:145074

TEROBICE S HO4EONT 5B, ELULWEZE (1) ~ @) OofrHBUAS
LN,

1 B o
S DEERES P
BTOECFTE

EhNs, ABROE
mETEKRLZS

N DAVRETE D3
lg I [ZFEy

TH<

Bl - 5 - 12
C. |PEBEESEE0| I FmEm
Sl
=24 sl KE
REDH £ ) HE
D. V.

RLOEEL. AZH e
fEAEELI-E D

1. AN BT, O, Dl
9 AN, B ICAIL, DIV
2. AL BT L DAl
4. AL B- IV, GO, Bl

1) 1

() 2

(3) 3

(4) 4




1[Option ID=3693]
2[Option ID=3694]
3[Option ID=3695]
4[Option ID=3696]

Sl. No.75
QBID:145075

TEOHIZE D DAL 5B, IELWVWEZE (1) ~ (4) oA HBUAX
LYy

i1 m o
& PROEE L prots
FOTH U BICSXR
B 1 B 00
ETAEE o PESR(& 20 DE
=EE L 7L AUCIR W o
€ lenyzm L |EGHR(D CA'%)

D. WEii—EosrEs| IV |EEE Lhd

1. A-II, B-1, C-IV, D-III
2. A-IV, BIIL, C-1, D-II
3. A-II, B-1V, C-1, D-III
4. A-II1, B-1, C-II, D-IV

11

() 2

(3) 3

4) 4

1[Option ID=3697]

2[Option ID=3698]

3[Option ID=3699]
4[Option ID=3700]

Sl. No.76
QBID:145076

TROFZILA~ZZ., IEL WHEFRHEZ (1) ~ (4) OFA»SRUBS LY,

o owp
B

.A—B—C—D

.D—A—B—C

. A—D—C—B
4. D—B—C—A

1) 1

2) 2

(3) 3

(4) 4

[

1[Option ID=3701]
2[Option ID=3702]
3[Option ID=3703]
4[Option ID=3704]

Sl. No.77
QBID:145077




LY,

A. BiEES
B. Hehis
C. HE#H%
D. K ¥ihs

1. A—-B—C—D
2. D—A—B—C
3. A—-C—B—D
4. D—-B—C—A
1) 1

(2) 2

3) 3

(4) 4

1[Option ID=3705]

2[Option ID=3706]

3[Option ID=3707]
4[Option ID=3708]

TidoEE IR > /B CliEZ,. IFLWEZ% (1) ~ 4) @EP?JJ\;)E_‘%O@%:%

Sl. No.78
QBID:145078

b,
FETIZLHIrRA AW

A.AD

B. [MATW3
CLghiE
D. Z DA

1.A—-B—=C—D
2.D—-C—B—A
3.B—=C—A—D
4. A—-D—C—B

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=3709]

2[Option ID=3710]

3[Option ID=3711]
4[Option ID=3712]

TERDXHTHT 5 &

,"j

2. AROEGDIEL LIEZ (1) ~ (4) OFhr oV A S

Tl

Sl. No.79
QBID:145079




?§a®ﬂj;§$ﬁ$ﬁzﬂjtméifjﬁ&§i\ ELL\%;&_ (1) — (4) @EF'?JJ\;)J\%%O@%:_C;{
LY,

A. BIRARER

B. BRAFXEE A=K
C. RHAFKEX
D. s8R

1.A—D—B —C
2. D—A—B—C
3. A—-C—B—D
4. D—-B—C—A
1) 1

(2) 2

3) 3

(4) 4

1[Option ID=3713]

2[Option ID=3714]

3[Option ID=3715]
4[Option ID=3716]

Sl. No.80
QBID:145080

TedoHEFEHEB I /2B CHEFTE 2. 1IEL \V&EZ (1) ~ 1) @EP}b\big_%U;‘@:g
LY,

TR

. BREFEEL

- B L EEERFRE
. EFHESINA

. A—-B—=D—-=C

.B—D—A—C

. C—A—B—D
4. D—-B—C—A

(1)1

2) 2

3) 3

(4) 4

e 0 B

(ST o B

1[Option ID=3717]
2[Option ID=3718]
3[Option ID=3719]
4[Option ID=3720]

Sl. No.81
QBID:145081




LY,

ABHHELTWS
B. H D7
CHIL7
D.IRZ=E(C

1. A—=B—C—D
2. D—-C—B—A
3.B—=C—A—D
4. A—-D—C—B
1) 1

(2) 2

3) 3

(4) 4

1[Option ID=3721]

2[Option ID=3722]

3[Option ID=3723]
4[Option ID=3724]

TRONXPTHT S £ 2. UWTFOFAOEL VIEE (1) ~ @) OFhLEUHE

TRENFHLULWASHE, 24

clFETHERAR L,

Sl. No.82
QBID:145082

rEg-g B
INERRDZFE T

TROXHTRET S & ) 1o, EOLAFOEGPIELVEZ (1) ~ (4) Db 5BV

A del BABALGE &
B. S\ &hH L WERRA
C.IZmEIC

D.EZ&/C

1. A —->B—C—D
2.C—=D—B—A
3. B—C—A—D
4. C—=B—A—D

1) 1

(2) 2

3) 3

4) 4

1[Option ID=3725]

2[Option ID=3726]

3[Option ID=3727]
4[Option ID=3728]

Sl. No.83
QBID:145083




TN AZDORBELJETHEAREZZ., IELVWEDZE (1) ~ 4) oAy B A X
L

A. REXE
B. EENXM
C. TR,
D. 46LLI3AE

1. A—-D—-B—-=C
2. A—-D—C—B
3. B—=C—A—D
4. C—B—A—D
1) 1

(2) 2

3) 3

4) 4

1[Option ID=3729]

2[Option ID=3730]

3[Option ID=3731]
4[Option ID=3732]

Sl. No.84
QBID:145084

TRROEE%E F OFEROIECEAZ 2. IELLEDE (1) ~ @) Oty HBUA X
LY,

A BEN
B. (AEEENX
C. FlLE
D. {EBESRAE

1. A—-D—B—=C
2. A—D—C—B
3. B—C—A—D
4. C—B—A—D

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=3733]

2[Option ID=3734]

3[Option ID=3735]
4[Option ID=3736]

Sl. No.85
QBID:145085




TEOFERTFTEITONIIETHEREZ, IELLWHDE (1) ~ (4) oA 5BV A
= Ly,

A BE
B. g5 1)
C. R ADH
B =

1. A—-D—B—=C
2. A—-D—C—B
3. B—>C—A—D
4. C—=B—A—D
1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=3737]

2[Option ID=3738]

3[Option ID=3739]
4[Option ID=3740]

Sl. No.86
QBID:145086

TE2 D Statementl & StatementII A’IE L WA, IEL <BWLA . IFLWWVE D% (1) ~
(4) OFHHBOAE X L,

Statementl: FEF & L CHEPBEIISTT - 7{EED. {FEZ=& 2T, t595F TCDOH4
ZaeL7cb DT, HEOFISL 24T TH 5D L [HEHRE] TH 5,

StatementIl: ZE. HiCldEN TEAIECL DD, THLUV oA TENTHA LD
EWH DT, [HEHRE] BEZDIFZIcE > TE N DTH 5,

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct, but Statement II is incorrect
4. Statement I is incorrect, but Statement I is correct
) 1
() 2
(3) 3
4) 4

1[Option ID=3741]
2[Option ID=3742]
3[Option ID=3743]
4[Option ID=3744]

Sl. No.87
QBID:145087




Tac2PDStatement I & StatementII ’ITEL WA, IELLGWLWA L, IELWEH DA (1) ~
(4) OFHHBOE X L,

Statement I: ERIZ O ZEHOMH E L THEL,

Statement I[1: ERZWOPEFYHE LTED,

1. Both Statement I and Statement II are correct.

2. Both Statement I and Statement II are incorrect.

3. Statement I is correct, but Statement II is incorrect.
4. Statement I is incorrect, but Statement II is correct.

1) 1
2) 2
3) 3
4) 4
1[Option ID=3745]
2[Option ID=3746]

3[Option ID=3747]
4[Option ID=3748]

Sl. No.88
QBID:145088

Ta2DStatement I & StatementILAIEL WA, IEL L Wvd . IELWLWE DA (1) ~
(4) oA LBUOREWL,

Statement I: FuAARIZLEDZWVWER, FAL EOENWLKIST LT, XEDIZH) HNFEL L

= LN,

Statement IT: FiAARDIERDOIER (FIRERY - ZFIAY T, FEIOER IFEHAIHLTIERS
fRIZH > T,

1. Both Statement I and Statement II are correct.
2. Both Statement I and Statement II are incorrect.
3. Statement I is correct, but Statement II is incorrect.
4. Statement I is incorrect, but Statement II is correct.
1) 1
() 2
(3) 3
4) 4
1[Option ID=3749]
2[Option ID=3750]

3[Option ID=3751]
4[Option ID=3752]

Sl. No.89
QBID:145089




Tac2PDStatement I & StatementII ’ITEL WA, IELLGWLWA L, IELWEH DA (1) ~
(4) OFHHBOE X L,

Statement I: EJORELZET L2155 [EXEEA DS (ZE)||IFE L > THES N
i

Statement II: 1587ICEBRFJ[ITAMICHE I L2F VX M EMoHY S x2RBT. &
BRDBMZ s L 7=,

1. Both Statement I and Statement II are correct.

2. Both Statement I and Statement II are incorrect.

3. Statement I is correct, but Statement II is incorrect.
4. Statement I is incorrect, but Statement II is correct.
) 1

() 2

(3) 3

4 4

1[Option ID=3753]

2[Option ID=3754]

3[Option ID=3755]
4[Option ID=3756]

SI. No.90
QBID:145090

Ta2?DStatement I & StatementII 2AIEL WD, IELLEWLWVA ., IELWEHED A (1) ~
(4) OFHISBUE I W,

Statement I: [T KF] {BEBEBFEZEOTFHENECH S

Statement I1: BR&=EF L [T XF] #ZE L -,

1. Both Statement I and Statement II are correct.
2. Both Statement I and Statement II are incorrect.
3. Statement I is correct, but Statement II is incorrect.
4. Statement I is incorrect, but Statement II is correct.
1) 1
) 2
(3) 3
(4) 4
1[Option ID=3757]
2[Option ID=3758]

3[Option ID=3759]
4[Option ID=3760]

Sl. No.91
QBID:145091
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FTADED., FELOBCEERET TSL7H. TbAELEIZON=-2T5 LV EEIZIKRS,

Tl EH AL LTEESB 91 WofzWEFARLOEON, f-&AIE, CAREBEERESASTIZLWL, FAD

SO ARE LTS, BEEAAFEIcLTIGE: -7 n,(L\éc ﬁmi}ﬁfj‘—'}@@ﬁo‘ﬁk’%ﬁﬂ, v O

L\'gr‘;—'ﬂ'ﬁ*h@ém@liozﬁw [k < TErdh, | Esbhificl Kol EaTahd vkl L LAELIE F

EboBCcEERIImESES 9,

EETZZ MO THELLILWEER-TWLS 92 EEHBLALOKIZEShNS L, BOLNAN e TLREHH W
BT

. BCHERIE. BT P2 EBI L 2Z0EEY I P>TVE L, EBOHTHLABIETH>TWLD

T':“t.

93 . BEZAPRELERTHRLIAATVWS CE, U ’”%K'}'”'- TWEFELY, WMELIF-REREICE
foo BEIZAREFEICEDT, SEELWEAT [HEThl EEI ==t 94 o FEBIEN MY T3,
LhAA, RILTHL 2L A I & EZHALVBHLYTES 95 728 BFEARTELLWESIChrAL

BTiEHd Ll 21 I 75N &b & AEES,
G%%%éﬁ@@@be_m#“Wm¥E';mﬁﬁ%%c;é1
IADAERBLEWVWIEDE (1) ~ (4) OFhFhHBUL XL,

L& gl i
2.& Uiz
3.& v
4. & &

1) 1
(2) 2
(3) 3
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The table below shows the number of persons (in lakhs) in six cities A-F, along with the ratio of males to
females, and literates to illiterates in these cities in the year 2020. Based on the data in the table, answer the
question:

City wise Distribution of Population

City };umt.)er of Persons Ratio
= (in Lakhs) Males : Females Literates : Illiterates
A 5.0 g 1:4
B 36 4:6 A1
2 28 3-4 25
D 45 5:4 3:2
E 50 23 2:3
F 30 2:1 7:3

afaRad IRolt 5 ay 2020 H B: FRI A-F & Al &1 9= (| H) & 1 4oy 9 Higell 3R 9aR 4
fAR&R S UTd UafRid ¢ | IRl § URdd Sibsl & YR TR YY P IR GIIC:

SRS &1 TRAR Tdavon

— mﬁm‘raﬁﬂ)mm w0, | R

afgen | FraR
A 5.0 32 Il
B 36 4:6 4758
C 28 30 2 - 5
D 45 5:4 sl
E 5.0 2R 2:3
F 3.0 2 g

The ratio of the number of literates in City-F to that of City-A is:
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The table below shows the number of persons (in lakhs) in six cities A-F, along with the ratio of males to
females, and literates to illiterates in these cities in the year 2020. Based on the data in the table, answer the
question:

City wise Distribution of Population

City };umt.)er of Persons Ratio
= (in Lakhs) Males : Females Literates : Illiterates
A 5.0 g 1:4
B 36 4:6 A1
2 28 3-4 25
D 45 5:4 3:2
E 50 23 2:3
F 30 2:1 7:3
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The numbers of females in City-B is % of the number of females in City-C.
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The table below shows the number of persons (in lakhs) in six cities A-F, along with the ratio of males to
females, and literates to illiterates in these cities in the year 2020. Based on the data in the table, answer the
question:

City wise Distribution of Population

City };umt.)er of Persons Ratio
= (in Lakhs) Males : Females Literates : Illiterates
A 5.0 g 1:4
B 36 4:6 A1
2 28 3-4 25
D 45 5:4 3:2
E 50 23 2:3
F 30 2:1 7:3
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The numbers of illiterates is more than one lakh in:

1. All the six cities
2. exactly three cities
3. exactly four cities
4. exactly two cities
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(3) 3
(4) 4
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The table below shows the number of persons (in lakhs) in six cities A-F, along with the ratio of males to
females, and literates to illiterates in these cities in the year 2020. Based on the data in the table, answer the
question:

City wise Distribution of Population

City };umt.)er of Persons Ratio
= (in Lakhs) Males : Females Literates : Illiterates
A 5.0 g 1:4
B 36 4:6 A1
2 28 3-4 25
D 45 5:4 3:2
E 50 23 2:3
F 30 2:1 7:3
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The average of the total number of literates in Cities A. B, C and E together is (in lakhs)

1. 1.67
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The table below shows the number of persons (in lakhs) in six cities A-F, along with the ratio of males to
females, and literates to illiterates in these cities in the year 2020. Based on the data in the table, answer the
question:

City wise Distribution of Population

City };umt.)er of Persons Ratio
= (in Lakhs) Males : Females Literates : Illiterates
A 5.0 g 1:4
B 36 4:6 A1
2 28 3-4 25
D 45 5:4 3:2
E 50 23 2:3
F 30 2:1 7:3
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F 3.0 P | i)

If the number of persons increases by 10% in City-B and by 12% in City-A in 2021 with respect to 2020, then
the ratio of number of persons in City-B to that of City-A in 2021 will be :

2l
.97 7120
255
.99 : 140
1) 1

(2) 2

(3) 3

4) 4

gid ay 2020 & GYer ay 2021 H ATl BT AT H TR-B H 10% 3R TR A H 12% B 9fa gl 8. d TR-
B 3R AR A ¥ el 1 Y= & o= 3=uTd g :

b b =

.

2

.97 120
2y
4.99: 140

1) 1

(2) 2

(3) 3

4) 4

LS S I
fad

1[Option ID=417]
2[Option ID=418]
3[Option ID=419]
4[Option ID=420]
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Which social media platform introduces one of the main features known as "super follows" ?

. Facebook
. Telegram
. Twitter

. Whatsapp
1) 1

) 2

3) 3

(4) 4

[T I SEAR He - 8 BIR # I U Bl - YR Bldle

1. hagD
2. T
3. feaer
4. gIeELY

1) 1

(2) 2

3) 3

(4) 4

W I =

=

1[Option ID=421]
2[Option ID=422]
3[Option ID=423]
4[Option ID=424]
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Which theory and theorist are associated with learning through observation?

. Behaviourist theory, Skinner

. Constructivist theory, Piaget

. Social cognitive theory, Bandura
. Socio cultural theory, Vygotsky
1

(2) 2

(3) 3

(4) 4

frafeiad o oi-a1 fasid SR FAGidsy e grT e 9 Heifid 6 ;

1. FdgRATG &1 ¥eid, RpR
2. TS &1 Rigid., foams
3. ISP SRMHTHSD Rigid, 5
4. FrHISID-Hikpfdd Rigid, Al
1) 1
() 2
(3) 3
(4) 4

W I =

da

1[Option ID=425]
2[Option ID=426]
3[Option ID=427]
4[Option ID=428]
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Given below are two Statements :

Statement I : The direction of flow of emotional energy is changed through the process of redirection and
sublimation from an undesirable goal to a socially desirable one.

Statement II : Catharsis is a desirable method in which channels are provided for the release of the emotional
energy.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement IT is false.
4. Statement I is false but Statement II is true.

11

(2) 2

3) 3

4) 4

e pyafeuug -

DHYA-1 : YHTHD Boll & UdTg ! [ faifesd ded I WHISID qifedd @8d Bt 3R TR 3R
eIl Hichal gRT URafdd eIl & |

DYA-11 ; fa¥=1 U difesd fafer g forgd damers Iui Hfad & feg difg iy yer &1 il & |
JWRIGd HY & 3Tl |, =i fU MU fddhedl & I gt IR 9894 DIfSY :

1. HYT IR I Id gl

2. FYFI AR I aHI T & |

3. FYF 1A g, Al HUA 11 A g
4. FUTI NI ¢, A YT 1 A g

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=429]
2[Option ID=430]
3[Option ID=431]
4[Option ID=432]
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‘What is the main aim of classroom management?

. To keep an orderly classroom

. To establish the primacy of the teacher

. To sustain a quiet environment

. To maintain a positive productive learning environment
1) 1

2 2

(3) 3

(4) 4

afaRad § &1--91 B YdeH &1 UHE 354 6 2

1. &1 Bl AR TG
2. AP DI YVAT RITTT PAT

3. Q[idl GG 0T ST G
4. GHRIHD IAIGADR] MENTH ardIaul (YRaLT) F41T 3G-]

(1) 1
(2) 2
(3) 3
(4) 4

W I =

=

1[Option ID=433]
2[Option ID=434]
3[Option ID=435]
4[Option ID=436]
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201010

Match List I with List IT

Bt Igz:;;iltaifocs List IT ( Programme)
P University Grants 1 Non-Technology post-
© |Commission (UGC) ©  |graduate degree programme
B i omsmyue o st I [Teacher training programime
© |Communication :
C INIOS (National Institute of I Non-Technology under-
" |Open Schooling) ___lgraduate degree programme
(AITTTE. Chennal (Hatignal Out of School Children
D. nstitute of T?c_hmca.l IV,  [|educational programme
[Teachers Training and th "
Resecarch) from class 9% to 12

(1)1
) 2
3) 3
(4) 4

1. A-III, B-1, C-1V, D-11
2. A-I, B-1II, C-IV, D-II
3. A-IIL B-1I, C-I, D-IV
4. A-11, B-L, C-IV, D-1II

Gl 11 Yl 1 9 i eifo

Choose the correct answer from the options given below:

T 1 RTEH & (MOOCs)
BLELED) :«?II@“@
S — TehieE

g @) L WWGW

B. |dfew wimm ey i gﬁﬂfﬂw
VT S e R

c. [Rerdmm@IaE | m gy
ST Ul By
AP dPIDI- DEN-9 Y 12 7D

D. |sredTyd Rig iR Fey| IV, (G & orel sl &

1.
2
3,
4,
(1)1
(2) 2
3) 3
(4) 4

A-III, B-1, C-1V, D-II
A-L B-1IIL C-1V, D-II
A-III B-1I, C-1. D-IV
A-II, B-1, C-1IV, D-II

1[Option ID=437]
2[Option ID=438]
3[Option ID=439]
4[Option ID=440]

i faU U faded § U Tl IR &l 999 HIfT :

Sl. No.

2.

4.

111

QBID:1201011
Use of theory in social science research is important as it provides:

1. Contrasting framework

Excess literature

Quantitative data

1) 1

3, Justification for research




) 2
3) 3
(4) 4

AT 9 2y # Riid &1 Yaiv Agdqul ¢ Riifh g WeH Hdl @ -

1. AfRP! TUAET (ThHTD)

4. AETHD 3fiho

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=441]
2[Option ID=442]

3[Option ID=443]
4[Option ID=444]
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A sample of respondents which is available to researchers because of their access to the respondents is identified
as :

. Random sampling

. Quota sampling

. Snowball sampling

. Convenience sampling
1) 1

(2) 2

(3) 3

(4) 4

vffal (FTRardrei) @1 oTs ufidesl ol [MeEdrsi S STReIsl dd S Ugd (RN & SR Jude]
g e, SUSHEUHAFI S ¢ ;

1. Urefws® uid=a
PRCLREIPICE R RERE
3. Hidrd vid=aH

4. gfqurie gid=a-

(1)1
(2) 2
3) 3
(4) 4

B b =

.

1[Option ID=445]
2[Option ID=446]
3[Option ID=447]
4[Option ID=448]
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Which of the following are the steps in systematic review of literature?

A. Search for archival records

B. Define the purpose

C. Assess the relevance of selected studies

D. Identify the quality of each study

E. Interview the authors of each study selected

Choose the most appropriate answer from the options given below :

.A.Band C only
.B, C and D only
.C,D and E only
.A.BandE only
1
(2 2
(3) 3
(4) 4

fafaRad # ®17 Iigd 31 ouaiyd Hian § U STH ardd R0 g 2

A R Yohdl §q D4 (e

B. 330 P GRHINT BT

C. 99 [T T 3o &l W RTasT (e o |
D. Y 37 i I0a b1 Il @I |

E. Yd® U 340 b dWh| Bl HIETDR |

LI o B

g

Oy,

il faU 7Y fdpedl H 9 968 Iugdd 3R Bl 994 Hifo :

1.$hdd A, B, C
2. $dd B, C,D
3.%dd C,D,E
4. $hdd A, B.E

1 1
(2) 2
(3) 3
(4) 4

1[Option ID=449]
2[Option ID=450]
3[Option ID=451]
4[Option ID=452]

Sl. No.114
QBID:1201014

Given below are two statements :

Statement I : Quantitative research lays emphasis on the generalisability of findings.
Statement II : Probability sampling does not generate a representative sample.

In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT is false
4. Statement I is false but Statement II is true

)1

(2 2

(3) 3

4) 4




e pyafeuug -

S 1 - GRATOTAS e GROmET (Fsah) B GHraaRuigd R ad ol ¢ |
Y 11 : U1 faaa 9§ $is ufaffs ufdes Tef Saa gidig |
JWRIET DU & 3Tl H, Aid faU 78 fadhedi § 9 Ygl 3R &I 99+ IOl ;

1. BYTIIR IS I g
2. HYTI AR I EHT 3T §
3. HYTI I ¢, AP BUTII 3 A ©
4. YT IET ¢, AfPT PUT I TA &
@ 1
() 2
(3) 3
4) 4

1[Option ID=453]
2[Option ID=454]
3[Option ID=455]
4[Option ID=456]
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Given below are two statements :

Statement I : In probability sampling, it is not necessary that all the members of population have an equal
opportunity to be the part of the sample.

Statement II : Non probability sampling method is not a fixed or predefined selection process.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement IT is false

4. Statement I is false but Statement II is true
1) 1
(2 2
(3) 3
4) 4

CIERAEZIC A G R

FYA 1 : UTihdl Uiada- H g 3H193F el ¢ 1 oHa@ & 94t el I ufdew § 994 9 4 id g4
BT AW U ol |

HY 11 : IR-UIRIH a1 Uld=a- fafe uep [A4d sryar gd-gRH1iYd == ufshar g1 g |

IR HU b 3Tl H, Fid ST MU fabedi & 9 gl IR &l 999 Hifofu ;

1. HYTIAR IS I &
2. HYT AR I AT 3T §
3. HYTIA 6. dfbT YT I 3T &
4. YT T ¢, AfPT PUT I A &
1) 1
2) 2
3) 3
(4) 4

1[Option ID=457]
2[Option ID=458]
3[Option ID=459]
4[Option ID=460]
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Language for communication is a product of :

1. Laboratory simulation
Religious affiliations
Everyday life

4. Elitist preference

1) 1

) 2

3) 3

(4) 4

HUNor & fere yiw fAgifed | 9 feogdT teh Iare (aiRon) g 2

1. JARTRITET {00
2. e[ TaeH
3. e Sia

4. 3T adiad

1)1
(2) 2
(3) 3
(4) 4

2.
3.

1[Option ID=461]
2[Option ID=462]
3[Option ID=463]
4[Option ID=464]
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By creating a bunch of expectations, mass media induce which of the following among audiences:

1. Professionalism

2. Preference for corrupt practices
3. Political positivity

4. Self-fulfilling prophecy

)1

(2) 2

(3) 3

(4) 4

GR R SUET3 Bl I (YoiT) DRy SFHAR HIH (HIGHITST) Rl iarsil H Faifdd # 9 @ uikd
UG ?

1. ARSI

2. Y¥ HdgRI gd adgdr

3

SIS PRSI

1[Option ID=465]
2[Option ID=466]
3[Option ID=467]
4[Option ID=468]
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Human communication involves which of the following factors ?

A. Building symbols

B. Using symbols

C. Manipulating symbols
D. Exclusion of Culture
E. Non-use of symbols

Choose the correct answer from the options given below:

.A.Band C only
.B, C and D only
.C,D and E only
. A, CandE only

1)1
(2) 2
(3) 3
(4) 4

g GUN0r § FEfaiad &HF-9 SRS MHA 8 g 2

A. di®! &1 A & |
B. Ydiichl &1 TN AT |
C. Udich] BT g3-UR

D. WH{d BT 3Tqei

E. Uciibl BT TR-YART

41 fau 77T fah el # I gl IR Dl 94+ BIfolT ;

1. $Fdd A, B, 3R C
2. $Had B, C, 3[R D
3.%ddC, D, 3R E
4. FaA A, C, 3RE

1 1
(2) 2
(3) 3
(4) 4

LI o B

g

1[Option ID=469]
2[Option ID=470]
3[Option ID=471]
4[Option ID=472]
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Given below are two statements :

Statement I : Communicative language is the means of transmission of our values and social norms.
Statement IT : Language defines and communicates the world around us.

In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT is false
4. Statement I is false but Statement II is true

)1

(2 2

(3) 3

) 4




e pyafeuug -

DY T : GUTUTED HIN SHR Hedl Td AT AHG] & gedl=R0l ST T |
HYT 11 ; HINT GHR 3T-YI ] g /=11 &bl URHINT Td ST Bl ¢ |

SWRId BYA & 3Tallb H, A< [$T MY [dhedl # 9 Tl 3R &I 99 iy ;

1. PUFIR NG 9 g

2. FYF AR M aHI T §

3. HUTITA B, A P I A
4 HU1 AT 8, AP P 1 T &

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=473]
2[Option ID=474]
3[Option ID=475]
4[Option ID=476]

Sl. No.120
QBID:1201020

Given below are two statements :

Statement I : Communication can create a 'feel good' factor among receivers.

Statement IT : Communication can be used as an instrument to divide and alienate the receivers.
In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

11

(2) 2

3) 3

4 4

BERAERIE A G U

PY L JUWOT Ui # <@g Hf (PIATS) RS I+ HR bl g |

DY 11 : HUNUT BT IYFNT UTtdebdli 31l bl dlc Ud R DRl g Uob HIY o &Y H bl off Hebell g
SURIGd BYF b 3Tl H, i< ST U [gbedi # 9 Ggl 3R &1 90 Bifoig -

1. PUFIAR I aH I &

2. HFYTI AR M aH! T &

3. HUT 1 TA B, Afbd YA 11 3T
4. PYTI A . dfbd HUA T A &

11
(2) 2
(3) 3
(4) 4

1[Option ID=477]
2[Option ID=478]
3[Option ID=479]
4[Option ID=480]
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Consider the series given below :
=830 2- 8,15, P55 (),

The values of P and Q i.e. (P.Q) are

5.5 0.5 4 5P 50

o
-
o

8

A 34fd (P, Q) RTBI?

2 D =

g

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=481]
2[Option ID=482]

3[Option ID=483]
4[Option ID=484]

Sl. No.122
QBID:1201022

10 persons can cut 7 trees in 14 days. In how many days can 16 persons cut 12 trees?

1. 16 days

. 13 days

. 15 days
4. 12 days

1) 1

(2 2

(3) 3

(4) 4

10 e 7 Ui @ 14 f&T § Hre UPbd § | 16 Afad 12 Ui &I fhad i H dre adbd @ 2

s b

PV o
[Ty ST ST
h L Oy

(]

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=485]
2[Option ID=486]

3[Option ID=487]
4[Option ID=488]
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The average age of a family of 5 members, three years ago, was 17 years. Inspite of the birth of a child in the
family during these 3 years the present average age of the family remains the same. What is the present age of
the child ?

et

2 years
3 years
. 2.5 years
3.5 years

L o T
n b=

o
th

1)1
(2) 2
(3) 3
(4) 4

i oy gd 5 gl & U URaR &l 2{1d 3y 17 a¥ i g diH a9 &l s A URAR At s b STH D
gTd Yl YRAR &1 IdHM 31d 1] dgl a1 g4l ¢ | 9= &I aadH A Al g 2

L e R
[FST OS]
tn ot ﬁ-, ﬁ-,

44

B

1) 1
(2) 2
3) 3
4) 4
1[Option ID=489]
2[Option ID=490]

3[Option ID=491]
4[Option ID=492]
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Find a single discount equivalent to two successive discounts of 10% and 20%.

L R e R
[
oo
(=]
=1

=
N
°

(1) 1
(2) 2
(3) 3
(4) 4

10% 3R 20% P1 Gl hi¥P Fel &b SRIE Thd Fe J1d P ;

B B R N T
[ BELTU R N R NS ]
h © 0o -]
B =T =T = =
= ﬁ\" o o

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=493]
2[Option ID=494]

3[Option ID=495]
4[Option ID=496]
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A person walks 30 meters North, then turns right and walks 30 meters. He then turns right and walks 45 meters.
Then he turns left and walks 15 meters. Again he turns left and walks 15 meters. In which direction and how far

is the person from his starting point ?

.45 meters, west
. 35 meters, east
. 35 meters, west
. 45 meters, east
1)1
(2) 2
(3) 3
(4) 4

Ueh Afe 30 Hiex IR D 3R =efdl 8. e a1t 3R Yo © 3R 30 Hiex Idd 8 | I8 fthx arfe-it 3k
Hqgdl g 3R 45 HieR 9ddl ¢ | [ a8 a1t 3R g8dl g 3R 15 Wik 9ddi ¢ | UhdR R 91t iR gedi g
AR 15 WX A § | Y R o T oAfad fha-l g 3R fhy fa=m # g 2

.45 Hiex, ufgs
.35 Hiex, ud
.35 HleR, ufgH
.45 Hiez, gd

1) 1
(2) 2
3) 3
(4) 4

LUV o

B

L O R

I

1[Option ID=497]
2[Option ID=498]
3[Option ID=499]
4[Option ID=500]
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Which informal fallacy is committed in the following statement - "Of course you want to buy XYZ toothpaste.
There must be a reason, why, 90 per cent of India brushes with XYZ toothpaste"

1. Slippery slope
2. Hasty generalization
3. Argumentum ad populum
4. Strawman Fallacy
1) 1
(2 2
(3) 3
(4) 4

RIRIT oA H DI HITEIRD Teh-aly g - 319 g U U XYZ TUUE P10 HA1 =I6d ¢ |
Riifds [l HRUERN HRA H 90 WARIT AR XYZ TUURT U §=T B G 2

1. T g eaM (Raudl %)
. Hfq=r g
AGIEAREEREN]
4, 9 Yeell (ETH) ddb-aly
1) 1
() 2
(3) 3
4) 4

[N I

1[Option ID=501]
2[Option ID=502]
3[Option ID=503]
4[Option ID=504]
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Which of the following statements is logically equivalent to the statement - "All women are honest human
beings"

. Some women are non-honest human beings.
. Some honest human beings are women.

. Some women are honest human beings.

. No women are non-honest human beings.
11

2 2

(3) 3

4 4

FRfRET H 9 11 B difde &9 U 39 HYU- & GHade ¢ - “TH] AGA SHHAGR AMd § 17

1. 9% AGAY TIR-GAMGR AFA § |

2. $B SHMER HHd Afgand g |
3.@3@@‘@?@3 Tl
4. Pis N AT TR- SAFMSR AT T8I § |

1) 1
(2) 2
(3) 3
(4) 4

=

I

1[Option ID=505]
2[Option ID=506]
3[Option ID=507]
4[Option ID=508]
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Which of the following statements is contradictory to the statement - "Some birds are mammals"?

. Some mammals are not birds.
. Some birds are not mammals.
. Some mammals are birds.

. No birds are mammals.

11

(2) 2

(3) 3

) 4

AT & A BITE1 DU 38 HU - P Uall TIURI § 1 T AT 82

1. O WU, gel A |
2. P Ul TWHURI 51 § |
3. 90 WHYRL, T&f § |

4. g 1l gail U T8 8 |

1)1
(2) 2
(3) 3
(4) 4

W I =

=

1[Option ID=509]
2[Option ID=510]
3[Option ID=511]
4[Option ID=512]
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immediately inferred to be false?

1. All animals are birds.
2. No animals are birds.
3. Some animals are birds.
4. Some animals can fly.

If the statement - "Some animals are not birds" is given as false, then which of the following statements can be




(1) 1
(2) 2
(3) 3
(4) 4

ie S IR - “Ho U Ul T8l 8~ Pl A & wU H feur 71 g dl Ferfafad # 9 fog dyd s ar d
AT Ticid FY Y 3 Gl BT A [l S ghal1 g 2

1. oo uefi § |
2. 18 it g el T |
3. PO UYUER T |
4. DB UY IS Yhd g |
o 2
3) 3
(4) 4
1[Option ID=513]
2[Option ID=514]

3[Option ID=515]
4[Option ID=516]
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Given below are two statements :

Statement I : Indian logic treats induction and deduction as separate processes.

Statement II : Indian logic does not reject the verbalist view of logic.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
11
(2) 2
3) 3
4) 4

BIEECAIC AR U

DY : HRATT Th AR 3TTHA 3R FATH B 9o Uihag A1 ¢ |

HYT 11 : R TR, THRIR D e PHIUN Bl [FRE -6l HRAT G |
JWRIGd HY & 3l H, A AU MU fdh el H 9 a8 Iugad IR DI 99+ DIy :

1. YIRSl Ul o
2. FUTIAR M EHI Tad &
3. HYF [ el g, dibd U I &
4. FUT 1A g, Al YA 11 el &

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=517]
2[Option ID=518]
3[Option ID=519]
4[Option ID=520]
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An Indian company designs a mobile application to process staff records. In each record, 10 bits are used to store
staff ID and 20 bytes are used to store staff names. How many staff records can the mobile application support?

Ui ba

| S T o T N T
[FE T ) =
[ ] [ =

[ ST )

e

1)1
(2) 2
(3) 3
(4) 4

Uh HRAIT DUl P & NGl I JIied H & [T Aldd TEhRH &l 3iHded dUR Hdl ¢ |
U 3HYeRd H wI% & UgdH YA & HSRUI & AU 10 [de 3R ®IH & M J994 & o8 20 d15¢ BT YIRT
fParSIar g | I 9a1¢ fh AieEd Tkiid e | fdhaq 7Th &, Afed iafdy sl I@d & -

—
[

S O R
—
[ Se]

[T S B S R o |
(5] =
[ ST )

B

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=521]
2[Option ID=522]

3[Option ID=523]
4[Option ID=524]
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The action of sending text messages to fraudulently obtain another person's Bank details is called:

. Phishing

. Pharming

. Spamming
. Smishing

1) 1

() 2

(3) 3

(4) 4

HYCYdP bl 3= fdkd DT dehebRI SURT U DR o (1T TSy H=T U - Pl febar hgardl 6 ;

1. TR IRIAT

I

T
4. SR

1) 1

2) 2

3) 3

4) 4

b I =

=

[T ]

1[Option ID=525]
2[Option ID=526]
3[Option ID=527]
4[Option ID=528]
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What are the main benefits of using an SSD rather than an HDD?

A. SSD uses spinning disks and is thus more reliable.
B. SSD is considerably lighter and has a lower power consumption.
C. SSD accesses data considerably faster.

Choose the correct answer from the options given below :

1. A and B only
2. Aand C only
3. B and C only
4.A,Band C

1

(2 2

(3) 3

(4) 4

HDD &1 §oiTd $SD Wil R+ & {3 A4 1 G -

A. SSD H guiq dfchep (U &%) BT UTNT 8Idl & 3R 39 UbR Ug (P f[dya-ia g |
B. $SD dgd 3 gebl gldl ¢ 3R 3GH f[dggd &l dH @I BIdl © |
C. SSD H §gd duil 9§ &< (ST1el) ®1 HHAH gl ¢ |

Hid fau T fadedi § I gl 3R Bl 90 DI ;

1. $9d A 3R B
2. Fad A 3R C
3. HFAAB 3R C
4. A, B3R C

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=529]
2[Option ID=530]
3[Option ID=531]
4[Option ID=532]
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Match List I with List IT

LIST I (Statement) List IT (Value)
A [Number of bytes formed from 8 bits IL |6
B. [Base-10 (denary) value of the binary number : 110 | II. |4
If there are 2F bytes in 1 mega byte, then what 1s mr

£ the value of P 7

IAn ISP company advertises its broadband download
speed as 128 mega bits per second. How many 4- v bo
" Imega byte files can be downloaded per second ’
using the company's broad band?

Choose the correct answer from the options given below:

1. A-III, B-IV, C-I, D-II
2. A-II, B-1. C-IV, D-1I1
3. A-III, B-1. C-IV, D-II
4. A-IV. B-I11. C-1. D-II

(1) 1

) 2

(3) 3

(4) 4




G 11 gl 119 e Sifon

T 1 @) Hmﬁ,]}]
A | s foe 4 A age @ 9= L| 6

B. |Gyl T 110 BT §9-10 GMYRH A | IL | 4
;ﬁlmﬁfﬁﬂﬁi’%’?ﬁpﬁﬂﬁﬁzﬂ s g

Dl ATZUHY! BUAT 0 G910 J adrl &
b Sg@ dled e Sre-als Wis 128 AMfae
D. Ufd YPUs & df HUl & slsss &I W d IV. | 20
U UHUS 4 TTERe & [dd-] Bl
SI3-dIs @ W HEal & |

frgfafad faeedl J O 98l ST &1 94 SIfu -

1. A-ITT B-1V, C-1, D-IT
2. A-II, B-1, C-1V, D-III
3. A-IIT, B-1, C-IV, D-1I
4. A-IV, B-11, C-II, D-II

(1) 1

2) 2

3) 3

(4) 4

1[Option ID=533]

2[Option ID=534]

3[Option ID=535]
4[Option ID=536]
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Given below are two statements :
Statement I : Entries in blogs are organized from most recent to least recent.

Statement II : Hits are the number of occasions where key words in a search engine match up with
websites/web pages.

In the light of the above statements, choose the correct answer from the options given below :

1. Both statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

1) 1

(2) 2

(3) 3

4) 4

CIERAEZIC A G EE
HUA 1 - s H ufafPal &1 gy gaifies 94 9 eaaq a4 & HH § e Srarg |

HY 11 : bl O SR & Blas 1 T o IR dewge / das & wry GAfid gidl ¢ a8 fge deand
e |

In the light of the above statements, choose the correct answer from the option given below :

1. HYT IR PYTIEH T § |

2. FYFI AR HUA I I A § |

3. HFYF 1A g Albd PYA T A © |
4. FUFI NI AP FUHA I TG |

1) 1
() 2
3) 3




(4) 4

1[Option ID=537]
2[Option ID=538]
3[Option ID=539]
4[Option ID=540]
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Given below are two statements :

Statement I : Most of the hazardous landslides are induced by earthquakes.

Statement IT : All landslides involve falling of earth material under shear stress.

In the light of the above statements, choose the correct answer from the options given below :

. Both statement I and Statement II are true

. Both Statement I and Statement II are false
. Statement I is true but Statement IT is false
. Statement I is false but Statement II is true
11

(2) 2

(3) 3

4) 4

el pyafeuug

DY : YD TARAID Yo, Yebul § ARSI © |

DY 11 : GHT YEEAA! H YT §Id &b 3P H-HIHE T [TRAT U™l Sl g |
SWRIGd HY & 3MTcllp H, =i [T MY [dhedl H T gl IR DI 87 DI :

1. PYT IR I ad 8
2. HYF AR I GHT AT g
3. HYT [T §. A1 BYT 11 3T ©
4. YT T . AfbT YT I T &
1) 1
() 2
(3) 3
4) 4

b I =

=

1[Option ID=541]
2[Option ID=542]
3[Option ID=543]
4[Option ID=544]
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Given below are two statements :

Statement I : It is relatively easier to monitor and regulate water pollution caused by nonpoint sources than point
sources.

Statement II : Nonpoint sources of water pollution may be fairly uniform and predictable throughout the year.
In the light of the above statements, choose the correct answer from the options given below :

1. Both statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

11

(2) 2

(3) 3

4) 4




e pyafeuug -

DY 1 : fdg Fidl &1 U IR-fdg (1 Wige) Tidl ¥ 3@d g didd oid UGl & (RHET (@ Hier) ud
[RIZT0T SBRAT SUENPHd AR § |

DY 11 : STAUGH & TR-fdg (A1 Wige) Fid gui =08 U HM 3R g a8 Ydi-Hg g1 9hd g |
SWRId DY b 3Tl H, 1 fT U fdhedi # 9 Ggl 3R &1 989 iy :

1. HYTIAR IS I §
2. BYTI AR NI SHl e &
3. HYTI I g, Al BUTII 3 A ©
4. FYTI I G, AfPAFUT I I ©
1) 1
2) 2
3) 3
4) 4

1[Option ID=545]
2[Option ID=546]
3[Option ID=547]
4[Option ID=548]
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Given below are two statements :
Statement I : By 2025, two-thirds of world's people will be living in water stressed countries.

Statement II : Growth of water withdrawal and consumption in Industrial sector is going to overtake that in
Agriculture sector by 2025.

In the light of the above statements, choose the correct answer from the options given below :

1. Both statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

1

(2 2

3) 3

4) 4

BIECIERIE LRI

HY 1 : fa8 SRiRE & al fders dT ay 2025 dF, STd-3HIaUd ol A | I ol |

DY 11 : AP & H Sa-Gle1 (MbRi) 3R 39 IuHNT H dfs. 99 2025 db HiNa H glard Iuar]
Y 3{iedm g oGl 6 |

IRIFI HU D 3Tl |, i faU MU fabed] & 9 el IR DI 999 HIfU ;

1. HYTIAR IS I §
2. BYTI AR NI SHl e &
3. HYTI I g, Al BUTII 3 A ©
4. FYTI I G, AfPAFUT I I ©
1) 1
(2) 2
(3) 3
4) 4
1[Option ID=549]
2[Option ID=550]

3[Option ID=551]
4[Option ID=552]
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Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R:

Assertion A : Kyoto Protocol exempted countries such as India and China from rolling back their Greenhouse
Gas emissions by about 5% below 1990 levels by 2012.

Reason R : Exemption was given to India and China as their contribution to total Green House Gas emissions of
the world was insignificant in 1997.

In the light of the above statements, choose the correct answer from the options given low :

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is not the correct explanation of A
3. A s true but R is false
4. A'is false but R is true
)1
(2 2
(3) 3
(4) 4

19 ST P AW § - U SHHBHU (Assertion A) B &Y H [dRId § Al GERT 3HD PHRUT (Reason R) B &Y
ff.

AFUDHYA A : I UIIDId U HRA AR = oY <=1 Bl 39 gRI 6T & ard gRd T (UH 8139) 19
Il H ay 2012 T, 1990 & TR U 5% Aidl o [hU S o Haiel H Fe e ot |

PRI R : HRd R = Dl gg Fe gHIT Ual $i 1l 20t Riifeb 9% @1 o gRd 78 19 I&Aoi1 H 37
GG 9N 1997 H 9gd HH (HedolH) Yl |

JURIS HY-T & 31l H, - U Y [dehedi # 8 Hgl 3R DI =9 DIfviY -

AR RIFAIIT § 3R R. A DI Ul ARA &
AR R 9 T, TR, APl Gel AR 18T &
AT g, dfPIR 3T ©

AEI T, APIRIA T
1) 1
() 2
3) 3
(4) 4

L O R

i

1[Option ID=553]
2[Option ID=554]
3[Option ID=555]
4[Option ID=556]
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Sources of heat of geothermal energy are

A. Radioactive decay of unstable elements
B. Nuclear fusion

C. Magma

D. Temperature gradient inside earth

E. Oceanic circulation

Choose the correct answer from the options given below :

1. A, Band C only
2.B, C and D only
3. A, Cand D only
4. C,D and E only

1) 1

() 2

(3) 3

(4) 4




YA ol BT I H Hid g -

A. IR Il D1 ASTElhT &g
B. ¥ Jag

C. HH

D. Jedl & 3f-<X dTqHT Ygurd]

E. HeITRIY Ikl
I 3T 71U [agadl # O el IR &1 994 Do :

1. FdA A, B3R C
2. $Had B, C 3R D
3. Had A, C 3R D
4. HadC, D 3RE

(1)1
) 2
(3) 3
(4) 4

1[Option ID=557]
2[Option ID=558]
3[Option ID=559]
4[Option ID=560]
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According to NEP 2020, which of the following will not be the function of National Educational Technology
Forum (NETF) ?

. To envision strategic thrust areas in educational technology

. To build intellectual and institutional capacities in educational technology

. To provide grants for setting up educational technology centers in central government institutions
. To articulate new directions for research and innovation in educational technology.

L R

.

(1)1
) 2
(3) 3
(4) 4

Tt 1 A1 2020 & AR, FafaRad & 9 SH-H1 AP Aléib YIB! BRA (TR 1U%) BT R T8l
BT 2

1. Q101 YIeifiept # Ui wia &1 W faaR &1 |

2. Ql&ifores Uit H diflge ud SR amdsi &1 [iFd e |

3. S WRXHRI G H Q&if0rb Wbt Sl BT RAMUT B g S BT |
4. Q&ffOre UIeiiTes! H /MY Ud 7aT€R 8 A4 =1 &1 oaRea] AT |

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=561]
2[Option ID=562]
3[Option ID=563]
4[Option ID=564]
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National Skill Qualification Framework (NSQF) is a competency based framework that organizes all
qualifications according to a series of levels of

A. Knowledge
B. Understanding
C. Skills

D. Attitude

E. Aptitude

Choose the correct answer from the options given below :

1.B,D and E only
2. A, CandE only
3.B. C and D only
4. A, B and D only

1

() 2

(3) 3

4) 4

P IS Il shHdh (TTLHRIUD) Uh &N TR hHdD ¢ Sl b, FHifhd oy &R &t g &
TR Gl Arsfi 1 Gifdd ddi g |

A QA

B. §HA
C. PRI

D. 3fgfd

E. 3fI¥&dr

i AU 7Y fqep el H I 98 Iugdd 3R Bl 99 Dol :

1. $ad B, D, 3R E
2. FAd A, C, 3R E
3. Had B, C, 3R D
4. A A, B, 3D

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=565]
2[Option ID=566]

3[Option ID=567]
4[Option ID=568]
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What is the full form of NHERC?

. National Higher Education Review Council

. National Higher Education Repository Council

. National Higher Education Regulatory Council

. National Higher Education Regulatory Complex
(1

(2 2

(3) 3

(4) 4

LI S I

&=




U R 61 gUf U A1 § 2

A 8R Tsg b Reg prdfid
A= BRIR U e Ryifored drdfa
. R BTER Togh ¥ g eied! B3R
AR §IR T WA dirddd

1) 1
(2) 2
(3) 3
(4) 4

L R S

I

1[Option ID=569]
2[Option ID=570]
3[Option ID=571]
4[Option ID=572]
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Who among the following gave us the names of the twelve divisions of the solar zodiac and whose calculation of
the earth's circumference was not off the mark?

1. 18varakrsna
2. Aryabhata
3. Bhaskaracarya
4. Brahma Gupta
1
) 2
3) 3
(4) 4

Frafiiad J 9 foog 9R AR (FIeR Sifsdieh) & 12 HRI &I AHBR fha 3R S gRI &1 1= gedl ol
gRfer 1 70T 9 gH & e ot 2

1. R
2. 3Ye

3, YRHIET
4. SIgHT

1) 1

() 2

3) 3

4) 4

1[Option ID=573]

2[Option ID=574]

3[Option ID=575]
4[Option ID=576]
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Following the recommendations of which of the following Committee the Central Advisory Board of Education
(CABE) was revived in 1935 ?

1. S H. Wood Committee
2. Hartog Committee
3. Wood-Abbot Conunittee
4. Sadlar Committee

11

(2) 2

(3) 3

4) 4




frofafad fou affa ot Bafd & ameR W St R gaesR 618 (©iuds) & av 1935 3 gH: 919
fepa T 2

1. U9, U9, 43 |fafd (eHd)
2. greiv gfafd
3.93 - Udic gfafd
4. YSer giifd
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=577]
2[Option ID=578]

3[Option ID=579]
4[Option ID=580]
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Read the following passage and select the most appropriate option for question :

Reputed author Illich is best known for his sharp criticism of the deleterious character of expert-based
institutions. These ranged from medicine and education to energy and transportation. The disempowering effects
of feminization of work and the narrowing down of gender struggles to a matter of individual economic and
political equality were also there. His book, tools for conviviality summarised many of his critiques. They were
set in the context of a political vision, namely, the reconstruction of convivial modes of living. He termed it as
'conviviality'. The book was self-consciously written as an epilogue to the industrial era. The conviction behind it
was that in the advanced stage of mass production, any society produces its own destruction. His key concept
was related to the industrial mode of production. He averred that industrial tools beyond a point would damage
people and environment. The steady erosion of limits started in the seventeenth century with the harnessing of
energy. Added to it was the progressive elimination of time and space, that gained force with the industrial
Revolution. It accomplished a complete restructuring of society in the twentieth century, aided by tools and
technologies of specialized knowledge.

i faT 1T Tefier 1 ufeu SR Y Bl SUed IR alfvrd ;

Ui d e sfcr fa=ssid - serid SRIHT & &R e S1 - dig sirei=1 & forg f[qeand ¢ |
DI (IR 39, 2181, SHo7l 9 |- URded d@ ATl B &b Yaa-d & WHIa! I [daiRiaul R e
ST & AHRUGE I AHR AT i 1R ol SHdl & Te, 2 961 ¥ | 379! s T
BR HHIAIRIET H 3BT 3 SHTeia-T131 B GR Ukdd (a1 71 g d Asi-lidd =P & HeH oY - Sl
o fq-TIgRited Tredi & gAHamT & U § Saiferd 4 | 3 g9 (o fq-iexiiedr Wsa widaried foar |
g G D PIel b IUUER & FY T ATe=q1 & 1 ferdl Tt A | 38 Uies ¢ Yron ug ot fb
[dYe TG BT IAd TR [l THIS H 3D 94 o [d-11=1 o] HReb Ual BRdl § | 371 Hd AR
Icdre & S Iare dfd A Gaferd o | 3l =¢dl & 1Y $gl d U fdg & dle sfienfiis
JUDHRU S SR UGIdRUT bl &ifd =TTl | Gogdi Wdlsd] H 3ol & Glg- & A1 HIed e o1 ¥dd &R0l
R 1 7T | SHP fTal GO 3R RH & Sfeshxvl J 34 3R 9 e off il wifd & 9y uad g
| ST 2rdred] # fa=Iied I & IuHRu o1 Uieliffhadl & JggiT 8 YA H1 YEeRE-1 o1 R guf
g |

What was the criticism of Illich on expert-based institutions?

1. Non-professionalism in sectors like medicine and transport
2. Too much expertise in the field of education
3. Adverse effects of feminization of work
4. Danger to economic progress.
1) 1
() 2
(3) 3
4 4




AN - SeTiRd =T R Zferd Bl S di 2

1. 3{NIE 3R ulkded oI &F] § TR-aarauriasdd
2. TR1en & & o 9gd 1fie fa=wsran

3, BRI & T ICHIBR] b i UHIG

4. 3Tde WTid I G

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=581]
2[Option ID=582]

3[Option ID=583]
4[Option ID=584]
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Read the following passage and select the most appropriate option for question :

Reputed author Illich is best known for his sharp criticism of the deleterious character of expert-based
institutions. These ranged from medicine and education to energy and transportation. The disempowering effects
of feminization of work and the narrowing down of gender struggles to a matter of individual economic and
political equality were also there. His book. tools for conviviality summarised many of his critiques. They were
set in the context of a political vision, namely, the reconstruction of convivial modes of living. He termed it as
'conviviality'. The book was self-consciously written as an epilogue to the industrial era. The conviction behind it
was that in the advanced stage of mass production, any society produces its own destruction. His key concept
was related to the industrial mode of production. He averred that industrial tools beyond a point would damage
people and environment. The steady erosion of limits started in the seventeenth century with the harnessing of
energy. Added to it was the progressive elimination of time and space, that gained force with the industrial
Revolution. It accomplished a complete restructuring of society in the twentieth century, aided by tools and
technologies of specialized knowledge.

A= fou TTU TeriR 1 ufeu 3R Y DI 3 3R alfvl ;

gfafRd oad Sford f[aRNsidT - TG SR & &ifddH AT B 3T g M= & forg fdend © |
SUPT AR 3ATe, R1ai, 3ol A AP giae- db Ull B & Yaa- & UHTa! B Aol 3R dfT®
oS o ILAIBRUIAGE I A Al A1 3R eI S5l & Te, 1 98l 3 | 371 s T
BR AT T 3BT 3 e B YR Ukdd (61 741§ d 1D 2P & He oY - Sila
& fa-igeiie ATl & YAMHAT & U H Saiford 4 | 3l 59 fag fa-Taghiedr ss wiagridd foar |
g G D Plef b SUHER & FY H SATH=dI b A1 ferdl Tt 4t | 38 Ui ¢ YR 4g 4 fb
a9 ST 1 3Ad <RI fob il IS T I T o [d-1=1 &1 DR U Bl © | I7D! BT HTURUN
IdIG & AeNfiD g e Afd 9 Yaferd off | 3% 2gar & 1 &gl fb U fog & a1e afielfiis
JUBHU S 3R UidR0T bl &ifc Ug=Tadl | Forgdi Qdlsd] H 3ol & GIg- & J1 Jlferd e o1 Fdd &R0l
SRH BT TR | $HP 3{ATal GHY 3R RIM & GigShv] U 34 R g e oif SAeiiies Hifd & Ty gad gof
| ST 2rcTsdl H =i d T @ IUDRON ol UEiihdl & TgaiT W FATS B GUR=-1 61 B gui
gof |

His critiques were set in the context of;

1. Global historicity
2. Convivial modes of living
3. Self-degradation
4. Ethical norms
1
(2 2
3) 3
(4) 4




3% gATAEAE feg dey 7 off 2

L. S ey
2. Sitad &1 faaieeia Jfaar
3. ¥9-3{dhHU
4. Afq®d ArFcs

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=585]
2[Option ID=586]
3[Option ID=587]
4[Option ID=588]
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Read the following passage and select the most appropriate option for question :

Reputed author Illich is best known for his sharp criticism of the deleterious character of expert-based
institutions. These ranged from medicine and education to energy and transportation. The disempowering effects
of feminization of work and the narrowing down of gender struggles to a matter of individual economic and
political equality were also there. His book, tools for conviviality summarised many of his critiques. They were
set in the context of a political vision, namely, the reconstruction of convivial modes of living. He termed it as
'conviviality'. The book was self-conseiously written as an epilogue to the industrial era. The conviction behind it
was that in the advanced stage of mass production, any society produces its own destruction. His key concept
was related to the industrial mode of production. He averred that industrial tools beyond a point would damage
people and environment. The steady erosion of limits started in the seventeenth century with the harnessing of
energy. Added to it was the progressive elimination of time and space, that gained force with the industrial
Revolution. It accomplished a complete restructuring of society in the twentieth century, aided by tools and
technologies of specialized knowledge.

i faT 71T Tefie 1 ufeu SR Y DI I IR alfvlg ;

Uiaf8d W Sierd (IS - STETRT SR & &ffdH YT B S{U-! <id M= & o [demd g |
DI (IR 39, 2181, STl 9 AP URded d@ ATl B b Yaa-d & WHIa! Bl [daiaiaul R e
ST & FAHRUVG T I ABR G S 7R oI SHdl & Te, 1 961 ¥ | 379! a7
BR HHAGIRIET H ID1 3 SATea-1131 Bl HR Ukdd (a1 71 g d Asi-lidd =P & HeH oY - Sl
o fq-TIgRited Treadl & gAHamT & U § gaiferd 4 | 3% g9 (oY fqiaiiedr Wsa widaried foar |
g gD HD PIel &b IUUER & FY H ATeqH1 & 1 ferdl Tt At | 39 Uies ¢ 4R g 2t fs
[IYe TG BT IAd TR (B! YHIS H IHD ¥4 o [d-11=] o] HReb Ual BRI © | 37| H¥d AR
IdIG & e Iadre dfd d Hdferd ot | 3% 2edl & 41 &gl fb U fdg & a1 sfienfis
JUDHU S 3R UGidRUT bl &ifd =TT | Yol Wdlsdl H 3ol & Glg- & 1Y HIferd e o1 ¥dd &R0l
RY 1T | SHP ATal GO 3R RM & diesnvl I 34 3R 9 [ off e wifd & 9y ad gaf
| ST 2rdred] # 9= d I & IuHRu ol UIelfihdl & gt 8 GATS H1 YEeiRE-1 o1 SR guf
gofl |

What did Illich foresee in his book ?

1. Industrial Society's self-destruction.
2. More scope for mass production
3. Arrival of advanced industrial society
4. End to all struggles in the world

1) 1

(2 2

(3) 3

(4) 4




i = 37Ul g H fhgept gaiaur foar o1 2

1. 3TN 99T o1 W-faare
2. fqget I@reT &1 3iftid GHIGg
3. 39d NS THN &7 SHTHA
4. fay & gaft dusf &1 3id

1) 1

() 2

(3) 3

4) 4

1[Option ID=589]
2[Option ID=590]
3[Option ID=591]
4[Option ID=592]
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Read the following passage and select the most appropriate option for question :

Reputed author Illich is best known for his sharp criticism of the deleterious character of expert-based
institutions. These ranged from medicine and education to energy and transportation. The disempowering effects
of feminization of work and the narrowing down of gender struggles to a matter of individual economic and
political equality were also there. His book, tools for conviviality summarised many of his critiques. They were
set in the context of a political vision, namely, the reconstruction of convivial modes of living. He termed it as
'conviviality'. The book was self-conseiously written as an epilogue to the industrial era. The conviction behind it
was that in the advanced stage of mass production, any society produces its own destruction. His key concept
was related to the industrial mode of production. He averred that industrial tools beyond a point would damage
people and environment. The steady erosion of limits started in the seventeenth century with the harnessing of
energy. Added to it was the progressive elimination of time and space, that gained force with the industrial
Revolution. It accomplished a complete restructuring of society in the twentieth century, aided by tools and
technologies of specialized knowledge.

i faT 71T Tefie 1 ufeu SR Y DI I IR alfvlg ;

Uiaf8d W Sierd (IS - STETRT SR & &ffdH YT B S{U-! <id M= & o [demd g |
DT (AR 39, f218q1, STl U Wb URded dd ATl B & Yaa- & WHId! BT [IlRiaul 3R e
ST & AHRUVIGE I AR Al i 1R Joriia® SHdl & Ge, 1 el ¥ | 378! s 7
BR HHIAGIRIST H ID1 3 SATela-1131 Bl TR Ukdd (a1 71 g d Asi-lidd =P & HeH oY - Sl
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The consequence of Industrial Revolution are :

A. Damage to environment

B. Restricted use of energy

C. Conquest of time and space
D. Minimal use of resources.

Choose the correct answer from the options given below :

. A and B only
.Band C only
C and D only
.Aand C only

d= W b =




(1) 1
(2) 2
(3) 3
(4) 4

STEfiTep shifcr & URUMA§ 2

A. TR0 B Gl

B. 3uil @1 ufqsfed o

C. 979 3R WH Pl fasy

D. 14T T ATH ST

Hid fau T fadhedi H I Tol 3R &I 98- DIIU :

1. Fad A 3R B
2. HAAB AR C
3. $Had C 3R D
4. FadA3RC

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=593]
2[Option ID=594]
3[Option ID=595]
4[Option ID=596]
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Read the following passage and select the most appropriate option for question :

Reputed author Illich is best known for his sharp criticism of the deleterious character of expert-based
institutions. These ranged from medicine and education to energy and transportation. The disempowering effects
of feminization of work and the narrowing down of gender struggles to a matter of individual economic and
political equality were also there. His book, tools for conviviality summarised many of his critiques. They were
set in the context of a political vision, namely, the reconstruction of convivial modes of living. He termed it as
'conviviality'. The book was self-consciously written as an epilogue to the industrial era. The conviction behind it
was that in the advanced stage of mass production, any society produces its own destruction. His key concept
was related to the industrial mode of production. He averred that industrial tools beyond a point would damage
people and environment. The steady erosion of limits started in the seventeenth century with the harnessing of
energy. Added to it was the progressive elimination of time and space, that gained force with the industrial
Revolution. It accomplished a complete restructuring of society in the twentieth century, aided by tools and
technologies of specialized knowledge.

=l 73U 1T Teli=r BT uieT 3R UY DT Iugad IR alforg ;

Ui e Sfer fa=esid - SuTid =A@ &R afftciaun o1 oy dig sirei=H1 & forg f[qwead g |
DI (IR 39, [21eq1, STl 9 ddhx uRded a@ U1l B & Uga-d & WHIal Bl [daiaiaul 3R diE
TN & ILAHROVAGE U THR AT S 3R eI Sl & Te, 1 781 ¥ | 3791 s T
BR HFAAACT 8 371 3 AT B R Udd a1 741 ¢ d Aifae = & g o - Sila
& faTieRiied HierHl & GAH10 & U H Saiford o | 3-gi- 99 ol fa-iegiiadr 2ss ufdurfed fbar |
g GxiD HHD PIef b SUHER & FY T SHTd=d1 & T ferdl Tt 4t | 38 Uiey ¢ Yron 4g 4 fb
[qgd ITE BT 37d <RI [ail YIS H 3G T & [A-1=T &1 DR U] Rl ¢ | 39D G-I ATURUN
Icdre & S Iare dfd 3 Gaferd o8 | 3 =¢dl & 1Y $gl [ U fdg & dle sfiefiin
JUDHU S 3R UGidRUT bl &ifd =T | Goagdi Wdlsd] H 3ol & Glg-1 & H1Y Hierd e o1 ¥dd &R0l
RY BT | 39 Tl GHY 3R RIM & Sie™hrul ¥ 38 3R & 7l ST 31eiifies hifd & iy uad gaf
| sl Qrclsal H fAipd S & IuebRull ol Uil & TaRT & FHTS! B YTHRd-1 B B guf
gofl |




The inference from the passage is that:

. Specialized expertise is absolutely essential.
. An industrial society is a welfare society.

. Conviviality should have its own limits.

. Industrialization is highly beneficial.

1) 1

2) 2

3) 3

(4) 4
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